
Lecture 8 ①

Spin of Dirac Particles

In the Heisenberg picture we get
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Dir
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particle IN A POTENTIAL

To solve a pro bleb of
a Dirac particle in the potential V
we 1st modify the equation to include

the potential .
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Klein
"Paradox " ⑦

( vetified in graphene )

Consider a scattering process by the

step potential
✓CX)

F R
VI

.. → p - E -Vo

*REE PARTICLE
T¥
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Recall for N Ram no such
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Solution is possible .
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Dirac electron in the field ④
Electric field is described by
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Important topic is spin-orbit

¥: READ pp 493 - 495

of the text .
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